B HA SRR BB R RIS R B - R

EIE N
B R
SRR Y
L
TBq TBq
4#241 (Am-241) A=6.E+01 6. E+01>A=6.E-01
4%241/4 (Am-241/Be) A=6.E+01 6. E+01>A=6.E-01
4252 (Cf-252) A=2.E+01 2.E+01>A=2.E-01
4244 (Cm-244) A=5.E+01 5.E+01>A=5.E-01
4560 (Co-60) A=3.E+01 3.E+01>A=3.E-01
4137 (Cs-137) A=1.E+02 1.E+02>A=1.E+00
4153 (Gd-153) A=1.E+03 1.E+03>A=1. E+01
4192 (Ir-192) A=8.E+01 8.E+01>A=8.E-01
4147 (Pm-147) A=4.E+04 4. E+04>A=4. E+02
47238 (Pu-238) A=6.E+01 6. E+01>A=6.E-01
45239/4L (Pu-239/Be) A=6.E+01 6. E+01>A=6.E-01
45226 (Ra-226) A=4.E+01 4. E+01>A=4.E-01
15 (Se-15) A=2.E+02 2.E+02>A=2. E+00
4190 (Sr-90) [4290 (Y-90)] A=1.E+03 1.E+03>A=1. E+01
42170 (Tm-170) A=2.E+04 2.E+04>A=2.E+02
42169 (Yb-169) A=3.E+02 3. E+02>A=3. E+00
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